o

PRLNN
6E

D 2.803

A

o5 Ve E?

@ 2.803 3 2.803

@ 2.83

3 2.83



2. o0db=aox| L[ Jobel A e@asE?

@D 0.11 ® 0.01 3 0.01 @ 0.001 ® 0.001



=f(12)

~ o~ o~

—_ D D O

—~~ o~ o~

D =

O f
@ f
® f
@ f

—~~

~—

—~

~



4.

B+DB4+DB+PB 4+ 4+ 478

49

_(_)4



fa—l(a+2b)H =4

ot

5 e . p o] AZ=?
8 10
@ 7 ® <



UEE (x-3)(x+6)& A7Mot=d 6 S A= FR Hob x> + x+ B
2 stk E, (4x +2)(x - 2) & WA x o A 45 AR
HobA| Cx? — 4x - 42 NS o] W, A+ B+ C 9] 9427

D -11 Q -7 B -5 @ 1 B 5



7. a=x+2y, b=3x—-y QW 4a-3b E x, y ol T3+ A= L}e}f
H?

@ —5x+ 5y @ —5x+9y ® —5x+ 11y

@ -5x+ 3y ® -bx+y



fretaa7h "ok 100 vRte]

AN a7t 2 4 e 7P 2 4 x, 100 2342 Zhd 4= Fofl A

® 20 3 24 @ 37 ® 50

@D 4



?

o oa7b F AR Q] AAeL W, a, b O] Fh2

5

@ a=54,b=14 @ a=63,b=5

D a=45,b=3

® a=81,b="7

@ a=T72,b=6



= 272 Uerd o, 2543 ofefl 20 A 2] o] 5 a, 99

O |~

<k
R

09

o+ b 9 F

S}
=

v Apele] 52 pet

® 9 A 10 @ 11 B 12

D 8



11.

e &84S 6.7352 2 E4-2 U=
S0l 2 A 2 g nF 1=H?

Hgoltt. (@) ~ (@)l

x=6.73522 l:gcﬂ x = 6. 7352352
@9 g < 5ot

(@) |x= 67352 352352 @
@9 g Sotd

(@) |x= 67 352352
©-©%3| (@) \x:\ @) |
Lox=| (@)

Q

@ (@) 10000 @ (@) 10

@ (@) 67285 ® @) 193;%

® (®) 9999




12. 04+2 {% + <o.2 _ g)} 092 Axtstoler,

D 0 @ 0.1 3 0.12 @ 0.4 3 0.89



13. tg H7] & &2 Ae 25 A A2

H7
@ 84 — 212 @ (_25)4 — _58
@ 278 — 311 @ 645 — 230
® Q6 ® Qe ® 0,0
@ ©., @ B O, 6.6




3
14. 3 g petw @ ot x Ly () B8 A4 ey

® 3B @ 3B? 3 9B? @ 9B ®

o =



15. F A x yol dato] «, o & xxy = (8xy? + 4xy?) + 2xy , xAy =

= (x*y) — (xay)
2y — 2 -~ akakeid [e) } 09
(12x%y = 8x%y) + dxy 2 7o o, (ry) F () o] g2

6y + x 6y — x 6y — x
@ Y @ Y y

6y + x 6y — x 6y + x
@ 6y + x ® 3y—x

6y — x 3y+x



